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Instructions for filling up the O.M.R Answer Sheet

I. Use only blue/black ball pen for filliing Roll Number, Question Booklet Serial No.,
Course Code and Category in the space provided for this purpose.

2 For filling the answer, you may use blue/ black ball pen or HB Pencil. Fill the circle
of your choice as shown under. If the correct answer is B, darken the full circle.
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1. The 73rd constitutional Amendment Act is related to:
(@)  Panchayati Raj System
(b) Anti defection Law
(c) Education for OBC
(d) None of these

733 WA weie T e gt 3

(a) qam?ﬁmrmam (b) faeigy foieft &1
(c) 3« <t =t faray (d) =9 ¥ #FE 7&f

= EIZ o3

rwa’/&.?@% (a)

IGEAET (b)
r")'; Su Aot ()
VAT C)

2. During whi¢h movement Mahatma Gandhi gave the call for 'Do or Die".

(@ Khilafat movement

() Non-cooperation movement
(¢)  Quit-India movement

(d) Civil Disobedience movement

mm%mmﬁﬁ#‘m.mqﬂ'mmm?

(a) foemwa sm<ie (b) TEEIN =Y
(c) 9@ Bl a<ed  (d) TS 3o e
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?QLM/‘?K‘)/L)/’LJI(QVUU»Lug/“uj:(
Liurn (b) L ()

LAy (@) L (©

3. Which among them was not given Bharat-Ratna award in 2019?

(@  Pranab Mukherji
~(b) - Nanaji Deshmukch
(¢)  Bhupen Hazarika

(d)  Dr.Manmohan Singh

frefafen & @ fmmt 2019 R0 W a@re 7@ ?

(a) Y& gEsi |
(b)) S <wE

(c) A B
(d) o wmEA fos

1959k s dtd U e o5 2 100

A2, @
FGk ()
O pel (é)
Fo? 25 (@)

4, The FIFA world cup 2022 was held in:
(a) France (b) Qatar
(c) Dubai (d) Argentina
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wid foRe H9 2022 Fel it gany

(a) W@ (b) wHmw
(c) (d) sife
Blar 2022 W
B (b) S @)
L.‘u-f A () (c)
5. Whois the Law minister in present Narender Modi govt.?
(@) P.A. Sangma
(b) Kiren Rijiju
() R.Venkataramani
(d) Tushar Mehta
Rz A N TR TER § Bz FEE
(a) o To Eepite
(b) o ffS
(c) Ao I

(d)

?c‘_ufuili‘/_,J;utuﬁuerd:ru:;)

PROVARC) F el-§ (2

e (D L}LJ-’»E-)JT (c)

" Which one of the following river flows between Vindhyan and Satpura ranges?
(2) Narmada (b) Maha.madi
(c)  Son Nadi (d) Tapti
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mﬁﬁ—wmwﬁa}mm%?
(a) =gy (b) W
.(C)A o9 1@ (d) =it

Ce (3% L’).L.’/.’L&' e Bl LsSLS u:( c.u.fd; SoI A
IO) R

&

Tsunami are not caused by:

(@)  Earthquakes

(b)  under sea land slides

() Volcanic eruption
(d) Hurricanes

(c)

frfafed & @ #F gd = sron 76 22
(a) =™
(b) ¥Hx & =
(c) e
(d)
-q_bnu.?} KLy
Kddees; (o) J (@)
it (d) UBFT ()
The Sangai festival is celebrated in: |
(@) Assam (b) Tripura
(¢) Manipur {d) Kerala
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I (b) Frga

(c) Wi (d) @
e bl rars

ug? (b)

A (d)

9.  Dandia is a popular dance of:
(@ J&K (b)

Gujrat
() Meghalaya “(d)  Tamil Na
Titea foraat wfag 90 2
(a) < HIHER

(b).  TSUa
(¢) TueE |

-“'-U;; JJ}';' vg!}.j:ﬁ
2 () &g (a)
g @ Le ©

10. Who among ing was the 23rd Jain Tirthankara?
(@) Milinath -(b) Mahavira
(c) Parshvanath (d) Rishabhanath
R & @ 2341 S iR @2
(a) fufemy (b) WeTER
(c) wresIY (d) FRIHTY

—————
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2k (b) A @
F (d) Aut, (©
@ gl 4”, then find the value 16™: é
@ 5 O
© 3 d 4
IR 2% g% 6% @ wm e
@ -5 | (b) 2
(© 3 (d) 4

12.  Ifa mobile is sold for Rs. will face 15% loss, at what price should he

sell the mobile to gai

“(a) Rs.4320 Rs. 4500

© 0 () 4230 |

Iz T 6oﬁﬁmw‘aaﬁaﬁméﬁlsuﬁmﬁmgélm
T W a9 20 fawrd =1 w9 gm?

(a) %o 4320 (b) %o 4500

(c) %o 3500 (d) %o 4230
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oS K S ein iS5 UbL/._-;j,};J“_.,;‘,} uﬁz’,u3060J/§r.{lﬁ

?;.lgl;/.w',/'J/@yéd‘/fulic"_tﬂgﬂfdvzoz
&-1/4320 (a)

&-5:4500  (b)

&

(c)

13. A sum of money become %-.times of itself i ye imple interest.
What is the value of rate (r)%?
(@) 25.11% 11.25%
(©) 15.25% 1.15%
. ‘. 19
T YAy ryfaw ﬁmﬁmﬁwﬁw%mﬂ
(r) =1 2
@ 25 () 1125%
(©) 15.25% C(d) 2115%
s i 79 . . |
| ?Jnkﬁw.’.Jb/‘d'r"-!e-ﬂfmf—?/EKr’-ui‘duaséfung;
‘?_’ ) X
e 11.25% (b) 2511% (a)
21.15%2  (d) 15.25%  (c)
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14. Multiply the reciprocal of 3 by the reciprocal of —51_

o 1
(8 =12 «(b) __12
(e 21 A
7 =3

§$53Ea;qﬁ—¢wﬁﬂ“"a?ﬁmmm2
21 )

@@ -12

(© 21

h’.ﬂ

15.
7) 1N
T2y
T
fﬁ/,!/,x}"n(l 4 ij E (1 - 27)/7
_ 13 169
5 (b) 3 (a
7 ) 1 (o)
Code No. S-12/ SET- B (10)
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16. If x + — = 2, then find the value of x — 1

<y 'Y
- X
@ 0 ‘b 1
© 2 @ 3
r+i=2 mael_,
X X
@ o (b) 1
( 2 ) 3
AP
1 (b) 0 (a)
3 (d) 2. (c)

17.  After 24 years I shall be 3 tim aslwa rs ago. Find my present age?
(@ 18years

(cr 2'Oyears
T TR FIW W 3 U0 @ wwh N e o

24 a8 &
- ®?
(a) 18 =9 (b) 15 =

(c) 20 =¥ (d) 16w |
L pozrd oS Nadttn o S K Une i 1 oF Vsl 2e
Juis ) Ju18  (a)

- Je1e (@) o Je20 (@)
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18.  Which of the following is equal te @~ + ab + bc + ca?

@ (a+b)(a+d)
®) (a+b)(a+c)
(© (a+‘b)(a—c)

N(d) None

a2+ab+bc+ca 1 HE?

@ (a+b)(a+d)
(b) (q+b)(a+c)
(©) (a+-b)(a—c)

(d = ==

La* +ab+bc+cacStsriu
(a+b)(a+d) ()
(a+b)(a+c) (b)
(a+b)(a-c) (©

HEL @

1
@ lf2x—2— =313 ﬁndthevalueof4x2 +-—1—-2— = 7

X 4x
(@) 167 b 170
© 171 d 175
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, |
afs 2x - — =13, 79 4x2 +L_r,
ax

4x?
(@) 167 (b) 170

© 17 d) 176

" 1 = 1 f
dér\gf..‘gﬁx g =

~
°
"

167 (a)

170 (b)

176 . (d)

3

20. Two numbers are in the ratio of 5 : 3. If they differ

N

@) 54,36 ~(b) 45,27

(© 5830 68,50

z’fmaﬁaﬂaﬁqms @ I hifoTe-
@) 5436 45,27

() 58,30

,,m.num 8u“uu’ A5 34

45,27 54,36 (a)
68,50 (d) 58,30 (c)
@ Which of the following numbers will become a perfect cube on multiplying by 5?
: D.6
@) 441 - () 675
(© 120 () 245
CodeNo.S-12/SET-B & =~ w3 (13
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43.

Freffen & 4wt eT B 5 ¥ T & W gl o A

() 441 (b) 675

© 120 d) 245

?Kn.,e(.,«v44;.,,ﬁ:.5/t/u/c,ut¢5.,>/p

675 (b) 441  (a)

245 (@)

One of the factors of the polynomial 1 3x? y - 39xy2 is:

@ y-x o) x-3

(© 3x-y (d) None

TR 13x%y - 39x)2 o

& y-x

¢

(© 3x-y

-§_l3x2y ~39xy? .{!c.gﬂ/’u(}u?/

x=3y (b y=x (a)
SLE @ o 3x-y (o)
Unit's d.igit of the square of 56679 is:
@ 8 ) 7
‘© 3 @ 1

Code No.S-12/ SET-B

(14)



HEA 56679 & a1 N garE -
< (b) 7
© 3 @ 1
E iK1 L 56679

7 () | 8 ()

1@

24. (3x2 +2y? )(sz - 3y2) =?
@ o o ) (,j iw =L
(b) —5x2y2 )

_(c): 6x* —5x

d) 5x2y +9
| A2
25. 42 E
(a) 180°a [(b) 360°

26. The sum res of the external angles of any polygon is:

() 540° (d) 720°

et agee & el A AR

(a) 180° (b)) 360°

(c) 540° @ (720°
(15)
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360° (b) 180°  (a)

. T20° (@) 540° (c)

27.  Find the value of 'x'if:

(55 )-(53)-(F)

- . i
@) 3 (b) 5
13 '

— (d 1
() 5 ()

= {a
3 @
13
1.4d) — ()
28.  The area of a rhombus is 28 cm2 and one of its diagonal is 4 cm. Its perimeter is:
@ 453 em .(b) 36em
| (©) 2453 em (d) J53 cm
Code No.S-12/ SET- B
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@mmmzswwﬁaﬁtm@W4ﬁ%nmw
A Hife-

(©) 2453 @ @) 53 &

:(mfbKJl-(‘_.}f@’/é/28~:"/'gu”-‘u~f’

36cm  (b) m4/53 (@)
em53 (@ 253 em ()
29. The volume of a cube is 2744 cm3. Its total surface area is: (‘) 03Uy (5? ¢
2
(@ 1176 cm? o(b) 784 cm? 3‘1 E 3 1
(c) 588 cm? (d) 196 cm? e) iUy !svv(@ —:L“
T& WA & A 2744 N B 3R GOl O B2 Cq,‘;
: Y] 1146
2 2 < g2
] :1_2_ § ¢
(@) 11763k GRS GG —® < | T
. <
(c) 588 Sy (d) 196 ot _—:—Fgg—{’#
‘-"rl./lf’(m)(r2744 cm FKJ/
ik
g 1176 cm?2  (a)
S 784 cm?  (b)
om ,18 588 sz (C)
196 cm”  (d)

30. The perifneter of a trapezium is 104 cm, the lengths of its non-parallel sides are 18

cm and 22 cim and its altitude is 16 cm. The area (in cm?) of the trapezium is:

@) 220 % e "Q;ETJ
‘(© 512 . S ks \
: )
18y 17
Code No. S-12/ SET- B s S ( 30\( e IO
\ oM | “\q,q"u rl’ 2
\..,/4"*/ & Sk

¥ a- NRER .



@mmqﬁqmo4ﬁ"”7%' % T g qone # e 18 ¥ @ik 2

it 1 EaE e 16@11\‘3!““*'@"1%(% o) 9@ Hifs
(a) 220 (b) 604
(c) 512 (d) 1224

220 22 22 G 183U St £ LUl G 104806 i) ]

Un M em I G 6&?’;!9(‘,"!/,1“-_ |
604 (b)

1224 (d)

31, What multipiied to get 68600 gives a perfect cube:

@ 1 | “(b) 2

(© 5 d 9 = A
68600%%%@%8@@%%@@ 311‘1;_3?
@ 1 ¢ D,

(€ S5

6860003 S EEZ_bloe 25 g/
(b) 1 @

_9' (@ 5 (o)

32.  Which of 0 is not a polygone?
(@) Squa
(b) Rectangle
+(c) Circle
(d) Parallelogram

Fretferfa § @ 3 gy @ 82

(a) =i | (b) =gd=

(c) = (d) wHARR Tges
Code Nq. S-12/ SET-B (18) |



(_'g_uj}')u,v(c:—u:di.yp

S5 ) &r @
Lo (d) | o7 (c)
33. If x isaneven number, then the next even number is:
@ x+1 ) x+2
() x+3 . () x+4
R x T W WA ¥ R w g 3 A
@ x+1 b)) x+2
| @ x+3 @ x+4
W nlif A
x+2 =)
x d)
34.  The Pythagorean triples whos ' ber is 8:
(@) 8,16,17
(b) 817,18
+(¢) 8,15,16
(d) 8,15, |
e el 8 2
@) 816,17
(b) 8,17,18
(© 81516
(d) 8,15,17
A e P ey e
8,17,18 (b) 8,16,17 (a)
81517 (@ 8,15,16. (c) .

Code No. 5-12/ SET- B - (19)




35.  The sum of two natural number is 5, the numbers are in the ratio 2 : 3, find the

numbers:
(@) 2and3
(b) 1and4
(c) O0Oand5
(d 2and4

3 e wemst @ A 5 a1 WENSH B o 2 : 3 ¥ Hemd 7 -
(@) 2R3 |

(b) 134
(© 03RS
(d) 23R4

e J/,‘i» |

3/?#2 (a)

451 (b)
50 (o)
4,2 (d)
36. What type of co ative regimes we‘r.e setup in 1815 in Europe?
(@) Autocratic
- »(b) Democratic

(c) Aristocratic

(d) Dictatorial

a9 7 1815 H 50 THR % wfeardt wew wnf 97

(a) e oA (b) PRG-I IC

(c) el (d) e

Code No.S-12/ SET-B : (20)
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$sn% (b) A7 (a)
<45 (@ VST ON

37.  Dr.B.R.Ambedkar, who organized the Dalits into the Depressed Classes Association:

(a) Clashed with Lord Irwin at the Second Round Table Conference

.(b)  Clashed with Jawaharlal Nehru at the First Round Table Conference
(¢) Clashed with Mahatma Gandhi at the Second Round Table/Conference
(d) None of the above ' '

2o ﬁmaﬁmﬁ%ﬁaﬁﬁﬁmaﬁﬁaﬁmm,aﬁ*
(a) TW MeWs Fed ¥ o o 9 fireaml
(b) UEA TS TR H SRl o Tee § (98 |
(c) {éi?ﬂaﬁamﬁmﬁn‘f%ﬂrxﬂ#fﬂgml
(d) T 9 FE 7
M L NGR B S 3 U S P
-Lﬂr)w’jVLU)J’jJ)ju:Jj/ﬁK%‘de/” (a)
_a.npwm’v&/fﬁmuﬁuj)’fxdf&? (b)
a2 S LS S P IS S @
Aty @

38, Which of the following is a formal source of credit?

(@) Traders «(b) = Cooperative societies
(©) Money Lenders (d). Friends and relatives

Code No.S-12/ SET-B (21)



39.

Frerferfiem & 4 i w1 @1 SR i 32
(a) =

(d) firm 3R fiwder

e D560 h oublUd, -

(a)
(b

:'é,)gf.’ ; (.c)

322 1 sl sy @

Which one of the followi generally comes under the Public

Sector?

s of irrig

@) Well._ Tubewell
() Tan (d) Canal |
W FF T & B siaa s 8
) ~(b) wwdw
(c) % (d) 7=

“etTeF L s T s

S - ) s )
/? @ | 2 ()

Code No.S-12/ SET- B
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40. What is meant by economic inequality ?

s(a) Itisthe distribution of wealth on the basis of gender.

(b) Itis the distribution of wealth on the basis of education.

ey Itis the situation of equal distribution of wealth.
(d) It is the unequal distribution of wealth and opportunity between different
groups of society.

anfefs srmrn @ F0 Afigm 27
(a) fam & snum W v &1 faam
(b) foen & 3MuR W w9 &1 fagm
(¢) WA & wum faam &t feufy
(d) §9= & fafw= o & oo w9 vd

(?J.‘:):JQL}.JJ? (a)
(-:j Jc)u,f':t_é\!ﬂ-g (b)

V’G/fg{ﬂr4l4&:),: (c)

» 'ﬁfngy‘ul:/'”uy»f.uﬁ:fﬁ&g;’b‘ (d)

41.  Which of the following is not one of the three organs of the Government?

(a) Legislature *(b) Bureaucracy
(¢) Executive (d) Judiciary
frofafes § @ #19 @R & @9 ® 9§ 76 R
(a) fawm |w (b) Fwremd
(¢) wrdwiftof (d) =rafas

Code No. §-12/ SET- B R A -
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Ji (@ G (©

42.  Which of the following features is common to most of the democracy?

(a)  They have formal constitution,

(b)  They hold regular election. | : |
()  They have political parties.

d) Al of these.
Frefefan 3 # sfemat S m§

(a) 3= dfaum
(b) frafaa g9@ =1
(c) UsHifaes
(d)

S S0 S S e ki i
Al Ll ()

IRV ST PR ()

WAL IO

§ . @
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43.  Which of the following is not a positive impact of globalization?

(@) Increased foreign investment

—

(b) Increased imbalance in development

(¢) Increased GDP

(d) Increased productivity

frafafed 4 9 = wieersTe 1 gERmE gaE @ 22
(a) faceht Fraw o ofg

(b) fom & s/gen & ofs
(c) Whel W] @R A i
(d) 3RHa ¥ gfs

! /f ju%lw?.

SR,

44, When we speak of gender division, we usually refer to:

+(@)  Biological difference between men and women

< (b) Uneqﬁal roles assigned by the society to men and women
(c) Unequal child sex ratio
~d)  Absence of voting rights for women in de_mocracy

N

LL)KU;(C,JU:);JM ‘

(a)

(b)

(c)

(d)

Code No.S-12/ SET-B (25)



S 7 fin fro Fed & A IR T TR WA € 6
(a) T s wfeen » weA AR SN
(b) Waﬂ;maﬁmﬁmwv@mﬁmﬁm

(c) 3HuA ae fan g
(d) mﬁaﬁuﬁmﬁm’la}zﬁsﬁﬁwmaﬁm

B P TRSASIA S
$3/8c bl fanpha(a)
/. [./.u.t_"Zg_;4/55‘/_/%»{.:,”6,:, s ()
Qs ©
err,«u{ YPETL ¥ fABITR AP (d)

45.  Identify the appropriate reason from the following options, for the non-participation

of industrial workers in the Civil Disobedience Movement.

(@) Industrialists were close to the Congress.

(b)  British offered.them good salaries.

(d)  Growthofsocialism 4 .
mma@mﬁmmﬁﬁ$ﬁw3éﬁmwwm?
(a) SENTIfaEl &1 FHOF F FA S |

(b) fafewr T &1 e Yot =1 weaa

(c) d foadeht =isif & afewrm @ fesfrm @ A
(d) TSR # Seiad

(c) 'They were reluctant towards the boycott of foreign goods.

Code No. S-12/ SET- B "(26)
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_a (LA e ()
S EF S Eflon s )

&by d LS ()

46.' In 1871, who was the Chief minister of Germ
(@) William1
(b) Otto Von Bismarck
(© "~ Kaiser William
(d) None of these
1871 ¥ S &1 ¥

(a)
(b)
- (c)
(d)

Wl b 2041871

Sy (b) Iﬁ.‘-Ld (a)

S et @ A )
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. 47. Which of the following is the erst abundantly available fossil fuel in India?

(@)  Petroleum
~b) Coal

() Natural Gas

(d) None of these

S W fer @O WS S S $ 2
(a) R

(b) Fgem
(c) vpfas o
(d) =i =&

' ?ﬁ',.,,?‘)dx.‘d/ ;o)L) > 140 Ja s ke |

A @
£ )
Al ©
AWty @

is not connected by Golden quadrilateral?

48. Whic g

-
(b)
(©
(d) Mumbai

frafafes & ¥ Wt @l Tgds @ S @ 2
(a) fReeit
(b) =%
(c) w@ETH

(d) w=¢

Code No.S-12/ SET- B (28)
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5 () ds @
) C)

49.  Which of the following are known as coarse grains?

(@) Wheatand rice

(b) Jowar, bajra and ragi

(¢) wurad, arhar and gram
{d) Groundnutand Mustard

T W S w2
(a) W& 3R ==

(b) &R, s@ 3R wh
(c) 3T, W 3R =
(d) et s T

, crkébt’li.y’u:( c_ufd,i,?/ﬂ
J,gmu,rf (a)
me/.g‘ s% (b)

Gt gatesst (c)

Ur il By @)

50.  What is the literal meaning of patriarchy?
(@ Rule of father (b) - Rule of men
<O Rule of husband (d). None of these

Code No.$-12/ SET- B 29



fogera &1 wfs ard 2- .-
(a) for #Y 7w (b) wﬁw
(c) wft % = (d) &

WP SR oy
SIS, ® ABKL, ()

CAE et @

| | (c)
51. Which one of the following is a 'Natlonal Political Party"?
(@)  Samajwadi Party
“(b), Rashtriya Janta Dal
(c)  Rashtriya Lok Dal 5
(d) Bahujan Samaj Party

frefafea & w7 wig
(a) wHSER et

(b) U= @ 3@
(c) & &=
(d)

fg-ézgtf LEiss. iS5 psu

| | &gd;mk (a)
Db, 2 ()

IS, 2 ()

SAtkPn (@
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2. Which regime is best suited to accommodate social diversity?
(a) Ademocratic regime
Tb) Monarchy
(c) Dictatorial regime
(d) None of these

mmmﬁﬁmmmﬁmmwmm%
(a) WG TEA |

(b) e

(c) dFNE - (d) W T
St Seiilic AtF Qe b rbflettdisim
et (b) wﬁrlﬁdw‘? (a)
Hevtu (@ LT O

53. Money acts as an intermediate in the exchange process, hence it is called

(a)' Store of value ’_(b) Stanidard of measurement

(6 Medium of exchangé  @(d) Face value

T fafora s o o & wdt €, sfd weerd 8-
(a) 7T & HER (b) = 1 qH
(c) faf-ma 1 wEaH (d) sifrd qea

IR U1t/ (6t Lacle LS L g

Jeke () Skl ()
guﬁé (d) 2550 (o) ,
5. Infdrmation and communication technology has been a major factor for the process
gt e
(@) Privatisation ~ (b) Generation
() Growth (d) Globalization
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O TE waR e WA % fou wim e w1 g 3
(a) fosfarco (b) P

(c) fopm (d) yHeelwwm |
_c‘-QJu”?@/J’JVGJ!}:‘/A’u}:JWﬂLJfL

.

J .(b). ﬁf&fl{, (a)
Fonk (@)

55.  The first printing press came to India with which one of th in
' (@)  Portuguese Missionaries '
4b) Catholic Priests
(c)  Dutch protestants
"~ (d) EastlIndia Company

I ¥ wwen fifen 4w ik or?
(a) gadmelt fageds |
(b) wHeifees wd
(c) == '

(d) =%

:J.jg/ijLU)'LT;ﬁ/?ﬁ/’U@uﬁubh

Skt (b) LW, @
F ey (@) s ()
56.  TISCO and Reliance industries are owned by:

(a) The government
_(b) Private Company
(c)  Acooperative society

(d)  Jointly by private companies and the government
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Tlscoaﬂtﬁﬁmﬂﬁﬁwmwﬁa%?
(a) W&HR (b)  fosft st
(c) Wewrt wfufq (d) TR ok feht wo WIH w9 F
?ugc,ﬂd/grz/‘l’lujl};,uﬂTISCO |
| JJ{Q;{% (b) Ja{ﬁ (a)
/.:u"f“/é‘dfuif{b‘cfl/‘:/:lu); (d) JC‘/(/}")?./,,T)( ()

57.  Which of the following factors is not responsible for econgmic development?

(@) Population size (B)  Cooperation from other countries
()  Global situation (d) Religion

frtfafen & 4 w1 ol faam = fou A 27

(a) S H AFER (b) (&8 o1 weam
(c) fova =t feafy (d) ud

?;.uf(&)&b».,rula,u:dsgw |

ﬁ-/j:f&ﬁb’é—/‘» (b) ZKU:QT (a)
=% (@ Joerde ()

58.  Integration of market means:

(@)  Operating beyond the domestic markets
(b)  Wider choice of goods
(c) Competitive price

_~(d) All of the above

TR F THE w1 379 2-
(a) g R ¥ R Fa©H
(b) =&gal wt AF TES
(c) et g
(d) e gt

—_—
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_EE L ) eSSt G

vosda (@) =diT ()
59. Word Trade Organization's aim is to liberalize

(@) International Trade
(b) Domestic Trade

(c)  Trade between two nations
_(d)  None of these

fava =R wreT w s
(a) I =R
(b) S AR

(c) i & d =R
(d) =¥

 Sts S i
=Kde Q)
=S ()

2 sl ufn ()
VAU C)

| 60.  Which of the following profession does not belong to the tertiary sector of economy?
' [(a)  Doctor
Barber
(c) Factory worker
(d) Washerman
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61.
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mﬁﬁmwmgmmamaﬁ?

- (a) wEX (b)
(c) W FHa (d)
AP e b AU e futidizme
O} B ()
37 (@) mpé A (@

In the early 20th century, Indian handloom cloth produ reased because:

(@) Factories were set up.

(b) New technologies like loons with flyi were introduced to be
checked.

(c) Merchants invested more capi ind
_@) Demand of handloom increa

de T @ o | s Eee
(a) vam wfm
(b)
(c) Y ISt & fram fadm e

3% &t ol

¥ afz & &, Fits-

oA ® WY A F 99 fwm wn o

:.f:[‘;.m.iu'Jd!?d/u’k(r:’»'m}tm\;deyqr:-
Lrfsu g @

el S A GALF Boy) ()
A0 ol fas=i 2t (o)

T Seitx (@)

s ———————————————



62. A historical account or folk tale in verse, usually sung or recited is called

(@) Vellum Q) Platen
(c) Ballad (d) Galley

% Wit gaiq @1 s HA SR S AR W A A GAN S 2, FeeA @8-

(a) #em () (b) e

(c) rn (d) ﬁ?ﬁ

bl eSS 2l s R T
i () (Vellu) % (a)
g @ A ©

63. Identify and mark the incorrect response.

The Napoleonic Code
(a) Did away with all the privileges based on birth established equality.

(b)  Destroyed feudalism in France
(c) formulated codesforthe army

_(d)  Ensured right to property for the privilege‘d class

Terd faehed gfe-

(a) S W i weff favtmfyend # wonfm wome @ @ @ fan
(b) WHTER I wiE ¥ T F

(¢) ¥ =& fou wfear & =t

(d) favroifsr wra o & forg wofa. @ AR w1 gt fwam
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P JetS ()

64. Population of Sri Lankan Tamils is concentrated in
_(a) North and South - (b) Nort
(©) East and West
| (a) SW aﬂ'( gfaor

(c) ‘Iéaﬁiwg

South an

s 21

Z$ 26\ Se P
u/&’/ﬂdl‘é (b) =52l Jé (5
J/&”/)’?;’? (d) ...,f.’jjl‘};" (c) |
65. What did "Indentured labour" mean?
(a) Cheap labour (b)  Free labour
(c) Contract labour \(d) ~ None of these
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Sigafe sm w1 atef 2-
(a) w5 (b) " % 5
(c) orgey sm (d) ¢ T

;M'/' (b) A5 @
u.f‘} é:(c,uﬁul (d)

66.. Who made the famous remark 'When France sneeze es rope catches
cpld'? .
(@) Metternich (b)
()  Garibaldi ~(d) Loui pe
Y W Siwd § @ A e Tl ST 21 7% whag feomdt famd
Hi off?
(a) wfE TfSH
(c) ameeh d) <EE fefag
Ve et _uyie (B P _on
gz (b) Lx ()
S @ Sasd ©
67.  Gandhi-Irwin Pact signed in
_(@)  April 1932 (b) March 1931
(0 May1931 (d) June 1932
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vﬁwﬂ—srfaﬁﬂq@ﬁwmmmgq?"

(a) o 1932 (b) = 193
(c) ¥ 1931 (d) 7 1932
&l i - /,:o»yb’uﬂ'(f i1
F193184  (b) 219324 (a)
U~1932u2  (d) UA19316. (o)
68.  Which of the following diseases proved a deadly killer for the people of America?
(@) Plague (b) Cholera
"~ (o) Smallpox (d) Diphtheria
ﬁ—@ﬁuﬁaﬁﬁw%aﬁﬁaﬁﬁmwﬁﬁwmaﬁag?
(a) =T (b 2T
(c) ==& (d) fewifan
?Jmf,t‘uéuhgiéu,;f /ldAgu) s
IO Sy
(Digtheria), 7% (d) e ()

69.  The main theme of the book 'Chhote aur Bade Ka Sawal' written by Kashibaba was:
(@) The life of the elite upper castes.
(b) The link between caste and class exploitation.
(¢) Restriction on the Vernacular Press.

(d) Injustices of the caste system.
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(a)
(b)

(c)
(d)

Fela 9o fa AT
W sl ol Oiwor & HeA Hay

FAferger 99 W HfaaH

Sifa =raeen & 3
s’ M/Gd)g&d’"dwmzmi_,{ "0 Sudy
| Soidimde ; ()
F o eI (b)
» SO INLINC

JWL‘J(WJJB,J’ (d)

70.  Which of the following'is not'included in the steps of Resource planning in India?

(@)
(b)

(©)
_(d)

Conservation offorest and wild life resources
Evelving a planning structure with appropriate technology, Sklll and
institutional set-up

Matching the resource development plans with overall national development
plans

Identification and inventory of resources

frefafed @ @ =1 TR & dmem faem @ v § 5 D

(a)
(b)
(c)
(d)

o SR IS W e
SYIHR THAHI BN AR G SR B WA T Ao g fwhad F
wEe fachr emed @ T T e demet # ary e

TS F Tew ol gE
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LS LS s B L GIE e s g o) 2 Bonstt (D)

28 L3587 84 S 5n Sl (c),

(@

S WYLIT %4

71.  Arrange the following Dams from north to south in the cor

()  Bhakra Nangal
(i) Salal
~(iii) Tungabhadra
(iv) Sardarsarovar
@@ (), (i), (iii), (iv)
~b) (i), (iii), (iv), (i)

(©) (i), (@), (iv), (i

@  (iv), (i, G

frrferfen s Wl 9 | T
(i)

(ii)

(iii)

(iv) TER TR

@ (), (), (i), (iv)

(b) (i), (iid), (iv), (1)

(© (b, (), (i), (i)
- (D) @), (@), (D), (i)
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Sl @

Ju (i)

L€ (i)

fa
(@) —(b) Maize

s li n
)
(©) (d) Sugarcane
wdA =

(i) = wEA 2 |

(i) 39210 Ut ® qH f&A &Y sravawa g ?)
(iii) 39 T AW H TEW@ et B

(iv) %Wﬁzﬁég@wﬁﬁmmﬁm%n
(a) et (b)) TR

(c) e (d) =

72.  ldentify the crop with the follo information:
(i)  Itis aKharif corp
(ii) Itrequires 210 fr
(iii) Itrequire ‘
(iv) Itgrows e regur soil.
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& ®
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73.  In which of the following states is the Namrup The

(@) Chhattisgarh Assam

«(©) Telangana ujrat

T9€Y q9 fag@ 99
(a)
(c)

(b) 39®

(d) T
?98130':{-—)"&/&9%&);&;’/4—U:UX)‘J_S.?JP
AT (b JUE ()

SYENC) €S (o)
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74 Out of the total population of Belgium, of people live in the Walloni,
region and speaks French.
Aa) 40 percent (b) - 50 percent
J6) 20 percent ~(d) 10 percent .
e it g sen ¥ 9 W e W e ¥ ok w e
gl |
(a) 40 wfowm (b) 50 wfowma
(c) 20 whwa (d) 10 Yavm
A e s ks S ' éu:d,mﬂ(ﬁk.
JI450  (b) NI
JiB10 () 0820 (o)
75.

Which of the following subjects is/are included in the state list?
_(@)  Agriculture

(b) = Irrigation
() Police

(d), Allof the above
Frfafen & - o g & i 3

(a) =W (b) fH=m
(c) ‘giew ~(d) us

?‘aJlﬁuf.:)_‘é“!CﬁrUfc;uiekﬁrig/ﬂ -

&l/) (a)

s (D) Sy ©
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Read the passage thoroughly and answer the Questions that follow:

Male lions are rather reticent aboyt expanding their energy in hunting - more thap
three quarters of kills are made by lignesses, Setting off at dusk on a hunt, the
lionesses are in front, tensely Scanning ahead, the cubs lag playfully behind and the
_males bring up the rear, walking slowly, their massive heads nodding with each step
as if they were bored with the whole matter. But slothfulness may have survival

value. With lionesses busy hunting, the males function as guard for the cubs,
protecting them particularly from hyenas.

76 According to the passage male lions generally do not go for hunting because:
@) '}‘hey do not like it.
(b)  To want lioness to get training
(c) They wish to save their vigour forother things.
(d) They are very lazy ,
77.  When the lionesses go in search for their prey, they are very:
| (@) Serious (b) “Cautious
(c) Playful (d) Sluggish
78.  Male lions protect their cubs:
(@) From the members of their own species
(b)  From hyenasonly
_(¢)  From hyenas as much as from other enemies
(d) @Mere from hyenas than from other animals
79.  Lionesses go for hunting
(a) Allalone 1 .
(b)  With their male partners only
(c)  With their cubs and maie partners
(d)  With their cubs only
—O.ut of the four alternatives suggested, select the most appropriate option to complete
the following sentences.
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80.

81.

82.

83.

84.

85.

86.

87.

88.

[ was cold because | _____ in the open for a long time.

~ {a)  was walking (b)  walked

(©)  have walked (d) had been walking

While my mother TV I finished my homework.

—(3)  has been watching

(b)  had been watching
(©)  was watching

(d)  watched

A few years ago it was found that certain cells of humah body never

(@ die (b) dies
(©) died _(d) willdie
—ofthe students has handedif their work.
(@ each \(b)' every
(©) many (d) much
Not is known@about his whereabouts.
(@) little - (b) all
(c) many (d) - much
[ don't want coffee, thank you.
(@) _Some: (b) any
(c) listle (d) few
One worry all the time. It leads to serious health problems.
(@) “won't _(b). shouldn't
(c). couldn't (d) can't
My grandmother is sixty-six, but she still read and write without glasses.
(@) can (b)  could '
_(c) may (d) must
We________ nothurry, we have got plenty of time.
—(a) shall (b) - would
(c) need (d) can
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89.  Ahmad is one of those persons who — ot tolerate incompetence .

_(a) does (b)  have

(c) are (d) do

90. He friends has come back.
_(a) andhis (b)  orhis

(é) along with his (d)  along with them
91. Neitherofthefilms ____ good.

(@ are (b)  have been

(c) was j\@ were

92. Hesaid to me, "Help me in solving the sum."
The indirect of the above sentence is:
(@) He asked me that helped him in solving the sum.
b)  He requested me to help him in solving'the sum.
(c)  He told me to helped him in solving the sum.
(d) Heasked me if I can help him in solving the sum.
93.  The manager said to me, "Do you think the director will resign?”
Thé indirect of the above §entence is: |
(@) The managerasked me if I thought the director would resign.
(b) The manager asked me did I think the director would resign.
(c) Theimanager asked me did I thought the director would resign.

(d) The manager asked me if I think the director will resign.

94.. The girl saidy"kmust complete the assignment."
The indirect of the above sentence is:
(a) The girl said that she must have to complete the assignment.
—(b)  The girl said that she had to must complete the assignment.
(¢)  The girl said that she had to complete the assignment.
(d) The girl said that she must had to complete the assignment.
95. Isaid to him, "Why did you hit the boy?"

Code No. 5-12/ SET-B T @)



96.

97.

99.

100.

~ Identify the kind of tense for the following sentence.

The indirect of the above sentence is:

(@) Iasked the boy why you hit him,

(b)  Iasked him why he had hit the boy.
EC) I asked him why had he hit the boy.
(d) Iasked him why he had hitted the boy.

Choose the correct option:.
/- working all afternoon and have just finished the assignment.
(3) havebeen ~ (b)  hadbeen
(c)- shallbe (@ am

I walk to school everyday. |
_ga) Present Continuous tense (b)  Sim

(c)  Simple future tense (d) es

Choose the most appropriate meaning of the word from the options provided.

Diminutive
(@) large tiny
(¢) huge less

Choose the co

You

(a)
©)

Which op

Sunita asked Venkat, "How much is the rent for your flat?

esaurus if you need groups of synonyms for these words.

_(b) needto
(d) might

isplays the correct change of the following to reported speech.

(a) Sunita asked Venkat how much was his rent for flat.
(b)  Sunita asked Venkat how much the rent for his flat was.

()  Sunita enquires from Venkat that how much rent he pays.

_(d)  Sunita told Venkat how much the rent for his flat was.
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